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 

𝑌𝑡 = ∅1𝑌𝑡−1 + ∅2𝑌𝑡−2 + 𝜀𝑡 

∅(𝐿) = 1 − ∅1𝐿 − ∅2𝐿2  

⟹ 𝜃(𝐿) = ∅−1(𝐿) = (1 − ∅1𝐿 − ∅2
2𝐿2)−1

∅(𝐿) = 0 ⇒ 1 − ∅1𝐿 − ∅2𝐿2 = 0  

𝑎𝑋2 + 𝑏𝑋 + 𝑐

∅2𝐿2 + ∅1𝐿 − 1 = 0  

∆∆= 𝑏2 − 4𝑎𝑐

∆= ∅1
2 + 4∅2 

𝐿1 =
−𝑏 + √∆

2𝑎
      ⇒          𝑳𝟏 =

−∅𝟏 + √∅𝟏
𝟐 + 𝟒∅𝟐

𝟐∅𝟐
 

𝐿2 =
−𝑏 − √∆

2𝑎
      ⇒          𝑳𝟐 =

−∅𝟏 − √∅𝟏
𝟐 + 𝟒∅𝟐

𝟐∅𝟐
 

 إذن حتى يتحقق شرط الاستقرارية يجب أن يكون:

|𝐿1| > 1        ,        |𝐿2| > 1 

{    

∅2 + ∅1 < 1
∅2 − ∅1 < 1

|∅2| < 1
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 ACF

𝛒(𝒌) =
𝜸𝒌

𝜸𝟎
= {

𝟏             𝒌 = 𝟎   
∅𝟏                𝒌=𝟏,𝟐,𝟑…..

𝒌  

 𝛾0𝛾𝑘𝛾𝑘 = ∅1
𝑘𝛾0

𝜸𝒌 = 𝜸(−𝒌)

III.     MA (Moving Average Models:) 

𝑴𝑨(𝒒)

𝑀𝐴(𝑞):   𝑌𝑡 = 𝜀𝑡 + 𝜃1𝜀𝑡−1 + 𝜃2𝜀𝑡−2 … … … + 𝜃3𝜀𝑡−𝑞

                    = (1 + 𝜃1𝐿 + 𝜃2𝐿2 + ⋯ … … + 𝜃𝑞𝐿2)𝜀𝑡 

𝒀𝒕  =  𝜽(𝑳)𝜺𝒕                         ,       𝜽(𝑳) = 𝟏 + 𝜽𝟏𝑳 + 𝜽𝟐𝑳𝟐 + ⋯ … … + 𝜽𝒒𝑳𝟐 

 

𝑌𝑡 = ∅(𝐿)𝜀𝑡 … … … (1) 

𝑌𝑡 = θ(𝐿)𝜀𝑡 … … … (2) 

⇒ ∅(𝐿) = 1 + 𝜃1𝐿 + 𝜃2𝐿2 + ⋯ … … + 𝜃𝑞𝐿2 

𝑴𝑨(𝒒)∅(𝐿)

 

 𝑌𝑡𝜸𝟎

𝑽(𝒀𝒕) = 𝜸𝟎  =  𝝈𝟐 [𝟏 + ∑ 𝜽𝒋
𝟐

𝒒

𝒋=𝟏

]

 k
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𝑽(𝒀𝒕, 𝒀𝒕−𝒌) = 𝜸𝒌  =  𝟎                       𝒌 > 𝟏

 

𝛒(𝒌) =
𝜸𝒌

𝜸𝟎
= {

∑ 𝜽𝒊𝜽𝒊−𝒌
𝒒
𝒊=𝒌

∑ 𝜽𝒊
𝟐𝒒

𝒊=𝟎

                          𝑘 = 0, ± 1 … . . ± 𝑞

𝟎                                                                    𝑘 > 𝑞

MA(2)𝜀𝑡𝜀𝑡 ↝ 𝑊𝑁(0, 𝜎2)

𝒀𝒕 = 𝜺𝒕 + 𝟎. 𝟔𝜺𝒕−𝟏 − 𝟎. 𝟑𝜺𝒕−𝟐

o 

𝑬(𝒀𝒕) = 0

o 

𝑽(𝒀𝒕) = 𝜸𝟎 = (1 + 𝜃1
2 + 𝜃2

2)𝜎2 = (1 + 0.36 + 0.9)𝜎2 = 1.45𝜎2

o 

𝑪𝑶𝑽(𝒀𝒕, 𝒀𝒕−𝟏) = 𝜸𝟏 = 𝜎2 ∑ 𝜃𝑖𝜃𝑖−1

2

𝑖=1

= (𝜃1𝜃2 + 𝜃2𝜃1)𝜎2 = 0.42𝜎2

𝑪𝑶𝑽(𝒀𝒕, 𝒀𝒕−𝟐) = 𝜸𝟐 = 𝜎2 ∑ 𝜃𝑖𝜃𝑖−𝑘

2

𝑖=2

= (𝜃2𝜃0)𝜎2 = −0.3𝜎2 = 0.3𝜎2

o 

𝝆(𝒌) =
𝜸𝒌

𝜸𝟎

𝝆(𝟎) =
𝜸𝟎

𝜸𝟎
= 𝟏  

𝝆(𝟏) =
𝜸𝟏

𝜸𝟎
=  

0.42 𝜎2

1.45 𝜎2 =  𝟎. 𝟐𝟕

𝝆(𝟐) =
𝜸𝟐

𝜸𝟎
=  

−0.3 𝜎2

1.45 𝜎2 =  𝟎. 𝟏𝟗    

𝑘 > 2    ⇒     𝜌(𝑘) = 0
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